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at point X=403604.4053 Y=4252133.6610

at point X=403507.5500 Y=4252095.5600
at point X=403503.9935 Y=4252128.5946

atpoint X=403519.3634 Y=4252149.3229

at point X=403545.5500 Y=42
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1.9073 Y=4252133.4
at point X=403619.8658 Y=4252
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at point X=403611.9073 Y=4252153.4985 h

at point X=403565.2196 Y=4252117.3997 }
atpoint X=403525.9992 Y=4252094.7338 \
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at point X=403507.4288 Y=4252146.6290 }

atpoint X=403512.3893 Y=4252166.1837 K
at point X=403507.1321 Y=4252166.0781 £
at point X=403505.3889 Y=4252156.9119 k:
at point. X=403497.4369 Y=4252152.2617 |
at point X=403486.8300 Y=4252170.4000 |\
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